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1.debugging ntp-service all
[@<]
debugging ntp-service all
undo debugging ntp-service all
(WE]
FRFE
(251
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€::)29|
debugging ntp-service allfs<$FSRITFANTPRIFFAEEIEEFX. undo debugging ntp-service al
IS FAREUEHRNRE.
REBRT, KENTPEREEHIIEE, ZaSHHERF G EIEHEREE X T o3I,
[z41]
# FIFNTPIESFRBIEIIEEFFX.
<Quidway> debugging ntp-service all
<Quidway> display debugging ntp
NTP access debugging switch is on
NTP adjustment debugging switch is on
NTP authentication debugging switch is on
NTP event debugging switch is on
NTP filter debugging switch is on
NTP refclock debugging switch is on
NTP parameter debugging switch is on
NTP packet debugging switch is on
NTP selection debugging switch is on
NTP synchronization debugging switch is on
NTP validity debugging switch is on

<Quidway>
21-1 debugging ntp-service allgg S FRIEIR A XFIE
FE& =X

NTP access debugging switch is on | NTPif[as# a7
NTP adjustment debugging switch is NTPR AT 4T

on
E'iI:SPoiuthentlcatlon debugging switc NTPE MDA T 4TFF

NTP event debugging switch is on | NTPEHEIXFFXEHFF
NTP filter debugging switch is on NTPILEEEER X BT
NTP refclock debugging switch is on | NTPSER B FF X2 TF

l(;lr']I'P parameter debugging switch is NTPR S S AT DT

NTP packet debugging switch is on | NTPIRIEIXFFXEFIFF

ETP selection debugging switch is o NT PR R E BRI T T

NTP synchronization debugging swit
chison

NTPE RIS ERIEAFREITH
NTPIZREENAISEBRHIFREHT
bai

NTP validity debugging switch is on

2.debugging ntp-service access
(<]
debugging ntp-service access
undo debugging ntp-service access
(#E]
FFRE
(2]
7
(A ]
debugging ntp-service access#n< FSRFJFFNTPIGaiEHEIRFF<. undo debugging ntp-service
accessip<S FASREANTPIFEEIERTTX.
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HEBER T, NTPIBEEEEEFFREXDN.
[241]

# FTFENTPIGE=HEIEHFF X

<Quidway> debugging ntp-service access

3.debugging ntp-service adjustment
(<
debugging ntp-service adjustment
undo debugging ntp-service adjustment
(#E]
FFE
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7
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debugging ntp-service adjustmentiy< FAFTFANTPRS#E TS IEIR T, undo debugging ntp-ser
vice adjustment?in < FISRKHINT PRI SIETIRIR X,
REBRT, NTPEREHEHEXFREXDN,
[241]
U1 # FTFNTPRIERETIRIL X
<Quidway> debugging ntp-service adjustment
IIAEBERS SRR BT E4
%Mar 8 11:18:44:100 2005 Quidway NTP/5/NTP_LOG:
System stratum changes from 5 to 4 after clock update.
[/ PR SRR AT AT A TRORS S TS
*0.5864220 Quidway NTP/8/debug_NTP_adjust:
NTP: step systime
offset: -0.009659500, residual: 0.000000000
21-2 debugging ntp-service adjustmentZ R~z Ei<AE

=8 =34

NTP: step systime NTPII AR AR AT =

offset Eitﬂﬂiff%ﬁiﬂ:%«%ﬁﬁq’ﬂﬁgﬂgﬁfg
=2

BEMMATRE, FHENTS

residual R R
4.debugging ntp-service authentication
(@]

debugging ntp-service authentication
undo debugging ntp-service authentication
(#E]
FFE
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7
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debugging ntp-service authenticationsp < FSEFJANTPESIGIEREIXFF%. undo debugging ntp
-service authenticationdy$ FASEXIFANTPEHIGIEEIX X,
REBRT, NTPEHRIEERFFXEXAM.
[z431]
Bt # FTFNTPEMIGERIHFFRX
<Quidway> debugging ntp-service authentication
[Quidway] ntp unicast-server 10.130.2.2 authentication-keyid 1
IINTPIE RIS MHIIFERER: keyid = 1
*0.6885580 Quidway NTP/8/debug_NTP_auth_key:
Authentication keyID: 1 //NTPE{IRIFEZEEID
2:1-3 debugging ntp-service authenticationZ 7<= Ei588
=8 ax
Authentication keylD NTPSHIGIEZSEID

5.debugging ntp-service event
(<]

debugging ntp-service event

undo debugging ntp-service event
(#E]

FFME
(&#]



7
€::)29)
debugging ntp-service eventip<$ FERFTHNTPEEX %, undo debugging ntp-service even
tan S FSRRANT PRI K.
REBRT, NTPEAFXFRXEXDN.
[=41]
# FTFINTPSHRIRFF X
<Quidway> debugging ntp-service event
[Quidway] ntp unicast-server 1.1.1.1
*0.274429180 RTB NTP/8/debug_NTP_packet_rcv:
packet from 1.1.1.1 to 1.1.1.2 on Ethernet0/0/0
leap: 0, version: 3, mode: 4
stratum: 4, poll: 64, precision: 2**18
rdel: 0.000, rdsp: 10.925, refid: 127.127.1.0
reftime: 19:03:35.508 UTC May 8 2005(C628E107.82265F0F)
orgtime: 19:04:28.023 UTC May 8 2005(C628E13C.061D755B)
rectime: 19:04:28.078 UTC May 8 2005(C628E13C.140C4156)
xmttime: 19:04:28.078 UTC May 8 2005(C628E13C.1420F6EF)
inptime: 19:04:28.043 UTC May 8 2005(C628E13C.0B34A44C)

*0.274429930 RTB NTP/8/debug_NTP_event:
NTP: control event

event: 0x84, eventnum: 0x01, peer: 1.1.1.1
2%1-4 debugging ntp-service eventB~{SEi5EA
=8 ax

packet from 1.1.1.1 to 1.1.1.2 on BT RN B ARGl

Ethernet0/0/0
. Leap Indicator, HRRE—H R
leap: 0 LS
version: 3 NTPEIRAS
mode: 4 NTPL{EE AL
stratum: 4 AHBETERRTRMAYEEL
ooll: 64 Poll Interval, FRFMNESENTPES

RS EERR, &
precision: 2**18 AT RIS E
Root Delay, FREWUFEETFMIR

rdel: 0.000 R ES BN IR BRIER
Root Dispersion, R FAITFE

rdsp: 10.925 SFMIREONESE IR AR
=

refid: 127.127.1.0 Root Clcok Identifier,

reftime: 19:03:35.508 UTC May 8 20 | ANHBAT $hER/G— IR AT AN HBAT

05(C628E107.82265F0F) B

orgtime: 19:04:28.023 UTC May 8 2 | KiXZEserverfINTPiERIRSZ EFcli

005(C628E13C.061D755B) entfIZAHBAT A

rectime: 19:04:28.078 UTC May 8 2 2 s o
005(C628E13C.140C4156) B FlikserverBT AR E]

xmittime: 19:04:28.078 UTC May 8 2 | NTPIIRIR X B Fserverft AUz bAT

005(C628E13C.1420F6EF) =1

o5 CazBE 136 onaande) ) 2 | CliontigBINTP R e
NTP: control event NTP3zHE4

event NTPEHS

eventnum NTPEHEE

peer SFumAYIPHtEhE

6.debugging ntp-service filter
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debugging ntp-service filter
undo debugging ntp-service filter
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debugging ntp-service filterap< FARITANTPILEERIEI{FX. undo debugging ntp-service fil



teri S EIEXFNTPITIRS IR X,
REBERT, NTPEIREREAFREXTN,
[241]
# FIFINTPIEIBERIEHFFX
<Quidway> debugging ntp-service filter
[Quidway] ntp unicast-server 1.1.1.1
*0.274431890 RTB NTP/8/debug_NTP_packet_rcv:
packet from 1.1.1.1 to 1.1.1.2 on Ethernet0/0/0
leap: 0, version: 3, mode: 4
stratum: 4, poll: 64, precision: 2**18
rdel: 0.000, rdsp: 10.925, refid: 127.127.1.0
reftime: 19:03:35.508 UTC May 8 2005(C628E107.82265F0F)
orgtime: 19:04:29.068 UTC May 8 2005(C628E13D.118A43BA)
rectime: 19:04:29.078 UTC May 8 2005(C628E13D.140DD3FE)
xmttime: 19:04:29.078 UTC May 8 2005(C628E13D.141E2584)
inptime: 19:04:29.088 UTC May 8 2005(C628E13D.16A0FD3B)

*0.274432640 RTB NTP/8/debug_NTP_filter_information:
clock_filter(1.1.1.1, 0.000005, 0.019629, 0.000000)
offset: 0.000000, delay: 0.019569

dispersion: 0.000009, std: 0.000002

*0.8566590 Quidway NTP/8/debug_NTP_loopfilter:

NTP: adj freq

last clockoffset: 0.001945, last drift_comp: -0.000015289
new clockOffset: 0.002819, new drift_comp: -0.000015278
21-5 debugging ntp-service filterB~{S 2158

52 aX
FHEIRER  (RIRSCARYIPHELE,
clock_filter(1.1.1.1, 0.000005, 0.019 | {RIEWEIATEEIT BRI SRS E,
629, 0.000000) RIBKEIRSE R SRR EHRIER
, IRIBKEINERTT B EE)
offset AHBETEERS T2 E I Hh AT SRR
2
dela HIRE T AMBAT S S E R RIS —5%
y B RIS ER AL
dispersion AHATEEN SSENHIRKNIRE
std sk

7.debugging ntp-service packet
(<]
debugging ntp-service packet
undo debugging ntp-service packet
(#E]
FFE
(2]
7
€::)29)|
debugging ntp-service packetin < FRITFNTPIRIZEIXFFX. undo debugging ntp-service pac
ket 75 FISRREAINTPIRSTEIHFT K.
REBERT, RCBAFRXEXDH.
[241]
# FTFNTPIRSORIRFF X
<Quidway> debugging ntp-service packet
*0.15899580 Quidway NTP/8/debug_NTP_packet_xmt:
packet to 10.130.2.2
leap: 3, version: 3, mode: 3
stratum: 0, poll: 64, precision: 2**18
rdel: 0.000, rdsp: 0.000, refid: 0.0.0.0
reftime: 14:01:27.017 UTC Mar 8 2005(C5D82EB7.04912988)
orgtime: 00:00:00.000 UTC Jan 1 1900(00000000.00000000)
rectime: 00:00:00.000 UTC Jan 1 1900(00000000.00000000)
xmttime: 14:06:00.005 UTC Mar 8 2005(C5D82FC8.016C508B)

221-6 debugging ntp-service filterB~{SEi5AA



R B
packet o 10.130.2.2 ZNTPIRM AIEZEIBRIIP: 10.130.2.
.130.2. 5
s Leap Indicator, HREE—HH
P pEREle ]
version NTPEYIRAS
mode NTP I{EEHIRED
stratum AHBATERFTRLAOEET
ol Poll Interval, FRFMNELENTPER
P XS AR, S B
precision AR ER RS
el Root Delay, FREMFRILSFMIR
FRNESEN NS EHRIER
Root Dispersion, ZFHENTFITE
rdsp g%mmﬁumza%wwaﬂ%ﬁ%
. Root Clock Identifier, [EEFMARRHT
B ESERIRRRT
reftime AHERT SR e — R A R AT A A AT
8]
. RixEFserverfINTPIEIIR T E FFcli
orgtime onfOA At
rectime RS E K serverAg FIABATIE]
«mitime [\lePﬂ[ﬁ]F_\HEB'Z%FserverHﬁ“E@J$itﬂHt|‘
B

8.debugging ntp-service parameter
(<
debugging ntp-service parameter
undo debugging ntp-service parameter
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FFE
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debugging ntp-service parameterip< FASEFTFFNTPRH S EUEIHTFX. undo debugging ntp-ser
vice parameterin < FSRKANTPRTES LRI FF K.
REERT, NTPRIFHSEIEAFF X2 XM,
[241]
# FTFINTPRI$HSEIRFF %
<Quidway> debugging ntp-service parameter

9.debugging ntp-service refclock
(a<]
debugging ntp-service refclock
undo debugging ntp-service refclock
(#E]
FFME
(%]
7
€:)29)
debugging ntp-service refclockd S FRITANTPSERTHEIHFFX. undo debugging ntp-servic
e refclockas S FISRAANTPEER AN TFX.
REBERT, NTPSEREHERFFREXAM.
[(451]
# FTFINTPSERS SRR FF X
<Quidway> debugging ntp-service refclock
%Mar 8 14:17:57:590 2005 46-1 NTP/5/NTP_LOG:
System stratum changes from 2 to 3 after clock update.
*Mar 8 14:17:57:710 2005 46-1 NTP/8/debug_NTP_REFCLOCK_TRANSMIT:
RefClock Transmit: At 16602

*Mar 8 14:17:57:830 2005 46-1 NTP/8/debug_NTP_REFCLOCK_RECEIVE:
RefClock Receive: At 16602

*Mar 8 14:17:57:950 2005 46-1 NTP/8/debug_NTP_REFCLOCK_SAMPLE:
RefClock Sample:



sampleNum: 1, offset: 0.000000
disp: 0.010000, std: 0.000000
2:1-8 debugging ntp-service refclock Z~{=EiH

=} X
debug_NTP_REFCLOCK_TRANSMIT | &EHEXEEREE
RefClock Transmit: At J%;EE%EZS%N@: BARGR
Debug NTP_REFCLOCK_RECEIVE SEMPEKEAER
RefClock Receive: At ggg%ggﬁ:%w@: BARRED
RefClock Sample SEMPREFLES
sampleNum B $hiFEAEE

Offset P RIE=

disp REPEZE

std g

9.debugging ntp-service selection
(a<]
debugging ntp-service selection
undo debugging ntp-service selection
(#E]
FFME
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7
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debugging ntp-service selection#z< FASRFTFNTPES#MERSEAINIT. undo debugging ntp-se
rvice selection f<& FSRKFINT PRI GRS RIRIHTF X,
REBERT, NTPREHERERIFAFXEXDN.
[(5451]
# FJFNTPRIS SRS RN X
<Quidway> debugging ntp-service selection
[Quidway] ntp-service unicast-peer 1.1.1.1
*0.346177970 RTB NTP/8/debug_NTP_packet_rcv:
packet from 1.1.1.1 to 1.1.1.2 on Ethernet0/0/0
leap: 0, version: 3, mode: 4
stratum: 4, poll: 64, precision: 2**18
rdel: 0.000, rdsp: 10.941, refid: 127.127.1.0
reftime: 14:59:52.568 UTC May 9 2005(C629F968.91818C5C)
orgtime: 15:00:03.903 UTC May 9 2005(C629F973.E740C415)
rectime: 15:00:03.908 UTC May 9 2005(C629F973.E88344C3)
xmttime: 15:00:03.908 UTC May 9 2005(C629F973.E88ABD5D)
inptime: 15:00:03.913 UTC May 9 2005(C629F973.E9CF893F)

*0.346178640 RTB NTP/8/debug_NTP_select_nlist:
NTP: nlist: 1, allow: 0, found: 0
low: -0.015927, high: 0.015892

*0.346178800 RTB NTP/8/debug_NTP_select_candidate:
NTP: candidate: 1.1.1.1, cdist: 64.015909, disp: 0.000000

*0.346178940 RTB NTP/8/debug_NTP_select_survivor:
NTP: survivor: 1.1.1.1, offset: -0.000018, cdist: 64.015909

*0.346179080 RTB NTP/8/debug_NTP_select_syspeer:
NTP: syspeer: 1.1.1.1, offset: -0.000018

*0.346179200 RTB NTP/8/debug_NTP_select_nlist:
NTP: nlist: 1, allow: 0, found: 0
low: -0.015942, high: 0.015907

*0.346179360 RTB NTP/8/debug_NTP_select_candidate:
NTP: candidate: 1.1.1.1, cdist: 64.015924, disp: 0.000000

*0.346179500 RTB NTP/8/debug_NTP_select_survivor:



NTP: survivor: 1.1.1.1, offset: -0.000018, cdist: 64.015924

*0.346179640 RTB NTP/8/debug_NTP_select_syspeer:
NTP: syspeer: 1.1.1.1, offset: -0.000018
2:1-9 debugging nip-service selection =S 1588

==

ax

debug _NTP_select_nlist

NTPEIFZRRIESSAFIRRAEE

nlist

1RSSR T IR P RIS IRAIE R

allow BEEREEHRBRNES RN E
found EEREEPEFNES RN E
low AR A AR B R BRME
high AR AR RT B EBRME

debug_NTP_select_candidate

NTPitEconfidenceRd B BfR/EIEE
FIRENSATIRBAER

candidate (RIS SRR PHtEE
cdist 1RGSR RIS IR
disp {BENEANEE

debug_NTP_select_survior

NTPXIZ AR RIEEANEHER

survior

SRR BAIXISRAIPHIL

offset BRI SRR R E
cdist BBz

debug_NTP_select_syspeer

NTPIEENRILELZRIEHER

syspeer

REGIEARLSIRAISSRE9IPiEE

10.debugging ntp-service synchronization

(8<]

debugging ntp-service synchronization

undo debugging ntp-service synchronization

(#E])
FBFRIE
(%]

7
(#5A]

debugging ntp-service synchronizationép< FASRFTHANTPES S EEEEAIHFFX. undo debugging nt

p-service synchronization#p< FASEXIZANTPE RIS BRI X,
BREER T, NTPRH RS ERENFFXEXN.

(261]

#FTFFNTPRISF RIS RIRIEFTX

<Quidway> debugging ntp-service synchronization

11.debugging ntp-service validity

(8¢

debugging ntp-service validity
undo debugging ntp-service validity

(&)
FFPIE
(&2#1]

7
€559

debugging ntp-service validity 5p S ISR TANTPIZIE EH IS XK FFX%. undo debugging nt

p-service validity i & FSRKHINTPITIZEAI SRR TTR.
REBRT, NTPIZEENNEEERAFF XA,

€=07))

# FIFINTPITRE A& R AIE T <

<Quidway> debugging ntp-service validity

IELRIRSER1.1.1.1, ERESHWIERERID=5, BAMMIRSHREISEREIDAMER, FEHBR

BIREZZA DA

[Quidway] ntp-service unicast-server 1.1.1.1 authentication-keyid 5

IMERINTPIRSZ

*0.267921100 RTB NTP/8/debug_NTP_packet_rcv:
packet from 1.1.1.1 to 1.1.1.2 on Ethernet0/0/0

leap: 0, version: 3, mode: 4

stratum: 4, poll: 64, precision: 2**18

rdel: 0.000, rdsp: 10.925, refid: 127.127.1.0




reftime: 17:15:12.503 UTC May 8 2005(C628C7A0.80C6B484)
orgtime: 17:15:59.082 UTC May 8 2005(C628C7CF.152B3CC4)
rectime: 17:15:59.092 UTC May 8 2005(C628C7CF.17C621B7)
xmttime: 17:15:59.093 UTC May 8 2005(C628C7CF.17D3910C)
inptime: 17:15:59.092 UTC May 8 2005(C628C7CF.17B80A9D)
IINTPIZFEEN&EMEHER

*0.267921770 RTB NTP/8/debug_NTP_Validity:

NTP: packet from 1.1.1.1, failed validity tests 000000010
IINTPIRS AR RISIAIGIEID

*0.267921900 RTB NTP/8/debug_NTP_auth_key:
Authentication keyID: 5

Z=1-11 debugging ntp-service validity B~ S Ei58H

(== ax

NTP: packet from A.B.C.D NTPiRIZSk B IPibiEA.B.C.D

Failed validity tests 0x00000010 g@%gggiﬁﬁﬁ&%m, i
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